Hindawi Publishing Corporation Differential Equations and Nonlinear Mechanics Volume 2007, Article ID 49251, 13 pages doi:10.1155/2007/49251

# Research Article A Note on Wave Equation and Convolutions

Adem Kılıçman and Hassan Eltayeb

Received 27 March 2007; Accepted 8 November 2007

Recommended by Shijun Liao

We study the first-order nonhomogenous wave equation. We extend the convolution theorem into a general case with a double convolution as the nonhomogenous term. The uniqueness and continuity of the solution are proved and we provide some examples in order to validate our results.

Copyright © 2007 A. Kılıçman and H. Eltayeb. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

# 1. Introduction

The wave equation occurs in many branches of physics, in applied mathematics as well as in engineering, and it is also considered as one of the three fundamental equations in mathematical physics. The homogenous wave equation with constant coefficient can be solved by many ways such as separation of variables [1], the methods of characteristics [2, 3], and Laplace transform and Fourier transform [4]. The nonhomogenous wave equation was also studied in [3] by using the methods of eigenfunction expansion.

In this study, we consider the nonhomogenous wave equation

$$u_t + cu_x = F(x,t), \tag{1.1}$$

replace the nonhomogenous term by a single convolution and double convolutions, and prove that if  $F_1$  and  $F_2$  are solutions for the nonhomogenous equations, then  $F_1(x) * F_2(x)$  and  $F_1(x,t) * * * {}^y F_2(x,t)$  are also solutions.

*Definition 1.1.* Let  $F_1(x)$  and  $F_2(x)$  be integrable functions, then the convolution of  $F_1(x)$  and  $F_2(x)$ , as

$$F_1(x) * F_2(x) = \int_0^x F_1(x - \zeta) F_2(\zeta) d\zeta, \qquad (1.2)$$

is called a single convolution, provided that the integral exists, see [4].

*Definition 1.2.* Let  $F_1(x, y)$  and  $F_2(x, y)$  be integrable functions, then the convolution of  $F_1(x, y)$  and  $F_2(x, y)$ , as

$$F_1(x,y) *^x *^y F_2(x,y) = \int_0^y \int_0^x F_1(x-\zeta,y-\eta) F_2(\zeta,\eta) d\zeta \,d\eta,$$
(1.3)

is called a double convolution, and we use the symbol  $*^{x}*^{y}$  to define the double convolution with respect to *x* and *y*, provided that integrals exist, see [5].

## 2. Main results

We start by studying the first-order nonhomogenous partial differential equation, where the nonhomogenous initial condition with convolution terms is given as

$$u_t + cu_x = F(x,t),$$
  

$$u(x,0) = g(x), \quad \text{where } -\infty < x < \infty, \ t > 0,$$
(2.1)

where the nonhomogenous term of (2.1) is a single convolution defined as follows:

$$F(x,t) = F_1(x,t) *^x F_2(x,t) = \int_0^x F_1(x-\zeta,t) F_2(\zeta,t) d\zeta,$$
(2.2)

where t in (2.2) is constant, and we consider the initial condition as a convolution that is given by

$$g(x) = g_1(x) * g_2(x).$$
 (2.3)

Now, the characteristic equations of (2.1) are in the following form:

$$\frac{dt}{d\beta} = 1, \qquad \frac{dx}{d\beta} = c, \qquad \frac{dv}{d\beta} = F(x,t),$$
 (2.4)

if the initial conditions are given by

 $t(\alpha, 0) = 0, \quad x(\alpha, 0) = \alpha, \quad v(\alpha, 0) = g(\alpha),$  (2.5)

then we solve (2.4) for *t* and *x*, respectively, thus we obtain

$$t(\alpha,\beta) = \beta, \qquad x(\alpha,\beta) = \alpha + c\beta.$$
 (2.6)

Then the last equation of (2.4), for v, becomes

$$\frac{d\nu}{d\beta} = F(\alpha + c\beta, \beta), \qquad \nu(\alpha, 0) = g(\alpha), \tag{2.7}$$

by solving (2.7), we have

$$\nu(\alpha,\beta) = \int_0^\beta F(\alpha+c\tau,\tau)d\tau + g(\alpha).$$
(2.8)

Solving (2.8), for  $\alpha$ ,  $\beta$ , we get the solution of (2.1) as

$$u(x,t) = \int_0^t F(x - ct + c\tau, \tau) d\tau + g(x - ct).$$
 (2.9)

In particular, if we take the nonhomogenous first-order partial differential equation with the nonhomogenous initial condition

$$u_t + u_x = x^2 + 2\cos(x) - 2,$$
  
$$u(x,0) = \frac{1}{2}e^x - \frac{1}{2}\cos(x) + \frac{1}{2}\sin(x), \quad -\infty < x < \infty, \ t > 0,$$
  
(2.10)

where  $c^2 = 1$ , then it is easy to prove that

$$(x) *^{x} \sin(x) = x^{2} + 2\cos(x) - 2,$$
  

$$e^{x} * \cos(x) = \frac{1}{2}e^{x} - \frac{1}{2}\cos(x) + \frac{1}{2}\sin(x),$$
(2.11)

and then we apply (2.10) as

$$u(x,t) = \int_0^t \left[ (x-t+\tau)^2 + 2\cos(x-t+\tau) - 2 \right] d\tau + \frac{1}{2}e^{x-t} - \frac{1}{2}\cos(x-t) + \frac{1}{2}\sin(x-t).$$
(2.12)

If we calculate the integral in (2.12), we obtain

$$\int_{0}^{t} \left[ (x - t + \tau)^{2} + 2\cos(x - t + \tau) - 2 \right] d\tau = x^{2}t - xt^{2} + \frac{1}{3}t^{3} - 2\sin(x - t) + 2\sin(x) - 2t.$$
(2.13)

Thus the solution of (2.10) can be written in the form

$$u(x,t) = \frac{1}{2}e^{x-t} - \frac{1}{2}\cos(x-t) + x^2t - xt^2 + \frac{1}{3}t^3 - \frac{3}{2}\sin(x-t) + 2\sin(x) - 2t.$$
(2.14)

In the following, we replace the nonhomogenous single convolution term in (2.1) by a double convolution term as

$$u_t + cu_x = F(x, t),$$
  
 $u(x, 0) = g(x), \quad -\infty < x < \infty, \ t > 0,$  (2.15)

where F(x, t) is defined as

$$F(x,t) = f_1(x,t) *^x *^t f_2(x,t) = \int_0^t \int_0^x f_1(x-\zeta,t-\tau) f_2(\zeta,\tau) d\zeta d\tau,$$
(2.16)

then the solution will be in the form of

$$u(x,t) = \int_0^t F(x - ct + c\tau, \tau) d\tau + g(x - ct).$$
(2.17)

The proof of (2.15) is similar to that of (2.1).

In particular, take the nonhomogenous first-order partial differential equation with the nonhomogenous initial condition as

$$u_t + u_x = -2\cos(x) + t\sin(x) + x\sin(t) - 2\cos(t) + 2\cos(x+t) + 2,$$
  

$$u(x,0) = -\frac{1}{2}\sinh(x) + \frac{1}{2}x\cosh(x) + \frac{1}{2}x\sinh(x), \quad -\infty < x < \infty, \ t > 0,$$
(2.18)

where  $c^2 = 1$ , then it is easy to prove that

$$(x+t)*^{x}*^{t}\sin(x+t) = -2\cos(x) + t\sin(x) + x\sin(t) - 2\cos(t) + 2\cos(x+t) + 2,$$
$$e^{x}*\sinh(x) = -\frac{1}{2}\sinh(x) + \frac{1}{2}x\cosh(x) + \frac{1}{2}x\sinh(x),$$
(2.19)

where  $c^2 = 1$ . Now, apply (2.17) as

$$u(x,t) = \int_{0}^{t} \left[ -2\cos(x-t+\tau) + \tau\sin(x-t+\tau) - 2\cos(\tau) \right] d\tau$$
  
 
$$\times \int_{0}^{t} \left[ (x-t+\tau)\sin(\tau) + 2\cos(x-t+2\tau) + 2 \right] d\tau$$
  
 
$$- \frac{1}{2}\sinh(x-t) + \frac{1}{2}(x-t)\cosh(x-t) + \frac{1}{2}(x-t)\sinh(x-t).$$
 (2.20)

Then we get the solution of (2.18) as

$$u(x,t) = -\frac{1}{2}\sinh(x-t) + \frac{1}{2}(x-t)\cosh(x-t) + x + t$$
  
+  $\frac{1}{2}(x-t)\sinh(x-t) - \sin(x) - \sin(t) - t\cos(x) - x\cos(t) + \sin(x+t).$  (2.21)

THEOREM 2.1. Consider the Cauchy problem as

$$u_{tt} - c^2 u_{xx} = F(x,t), \quad -\infty < x < \infty, \ t > 0,$$
  
$$u(x,0) = p(x), \qquad u_t(x,0) = q(x),$$
  
(2.22)

where

$$F(x,t) = F_1(x,t) *^x F_2(x,t), \qquad (2.23)$$

and the initial condition is defined as

$$p(x) = h_1(x) * h_2(x),$$
  $q(x) = g_1(x) * g_2(x),$  (2.24)

then the solution is given by

$$u(x,t) = \frac{1}{2}p(x+ct) + \frac{1}{2}p(x-ct) + \frac{1}{2c}\int_{x-ct}^{x+ct}q(y)dy + \frac{1}{2c}\int_{0}^{t}\int_{x-c(t-\beta)}^{x+c(t-\beta)}F(y,\beta)dy\,d\beta.$$
(2.25)

*Proof.* The nonhomogenous term of (2.1) is a convolution defined by

$$f_1(x,t) *^x f_2(x,t) = \int_0^x f_1(x-\zeta,t) f_2(\zeta,t) d\zeta, \qquad (2.26)$$

where *t* is considered constant, see [6], and the nonhomogenous initial condition of (2.1) is also a single convolution defined by

$$h_1(x) *^x h_2(x) = \int_0^x h_1(x-\zeta) h_2(\zeta) d\zeta, \qquad (2.27)$$

also see [6], and

$$g_1(x) *^x g_2(x) = \int_0^x g_1(x-\zeta) g_2(\zeta) d\zeta, \qquad (2.28)$$

then by applying the method of reduction to first-order equation, we can write (2.1) in the following form:

$$(\partial_t + c\partial_x)(\partial_t - c\partial_x)u(x,t) = F(x,t).$$
(2.29)

Let  $w = (\partial_t - c\partial_x)u(x,t)$ , then we introduce (2.1) with the initial condition to the first order as

$$w_t + cw_x = F(x,t),$$
  

$$w(x,0) = u_t(x,0) - cu_x(x,0) = q(x) - cp'(x),$$
(2.30)

thus we can write the characteristic equations as

$$\frac{dt}{d\beta} = 1, \qquad \frac{dx}{d\beta} = c, \qquad \frac{dz}{d\beta} = F(x,t),$$
 (2.31)

if the initial condition is provided as

$$t(\alpha, 0) = 0, \quad x(\alpha, 0) = \alpha, \quad z(\alpha, 0) = q(\alpha) - cp'(\alpha).$$
 (2.32)

Now, first of all, we solve (2.31) for *t* and *x*, then we get

$$t(\alpha,\beta) = \beta, \qquad x(\alpha,\beta) = c\beta + \alpha,$$
 (2.33)

the last equation of (2.31), for *z*, becomes

$$\frac{dz}{d\beta} = F(\alpha + c\beta, \beta), \qquad z(\alpha, 0) = q(\alpha) - cp'(\alpha), \qquad (2.34)$$

by solving (2.34), we obtain

$$z(\alpha,\beta) = \int_0^\beta F(\alpha+c\tau,\tau)d\tau + q(\alpha) - cp'(\alpha).$$
(2.35)

The solution of (2.35), for  $\alpha$ ,  $\beta$ , will be given by

$$w(x,t) = \int_0^t F(x - ct + c\tau, \tau) d\tau + q(x - ct) - cp'(x - ct).$$
(2.36)

Similarly, we consider to solve the equation below by the same method:

$$u_t - cu_x = w(x, t),$$
  
 $u(x, 0) = p(x),$ 
(2.37)

where the characteristic equations are

$$\frac{dt}{d\beta} = 1, \qquad \frac{dx}{d\beta} = -c, \qquad \frac{dz}{d\beta} = w(x,t),$$
 (2.38)

and the initial condition is

$$t(\alpha, 0) = 0, \quad x(\alpha, 0) = \alpha, \quad z(\alpha, 0) = p(\alpha).$$
 (2.39)

Now, we solve (2.38), for *t*, *x*, as

$$t(\alpha,\beta) = \beta, \qquad x(\alpha,\beta) = \alpha - c\beta,$$
 (2.40)

the last term of (2.38), for *z*, becomes

$$\frac{dz}{d\beta} = w(\alpha - c\beta, \beta), \qquad z(\alpha, 0) = p(\alpha).$$
(2.41)

We solve (2.41) as

$$z(\alpha,\beta) = \int_{0}^{\beta} w(\alpha - c\theta,\theta) d\theta + p(\alpha)$$
  
= 
$$\int_{0}^{\beta} \left[ \int_{0}^{\theta} F((-c\theta + \alpha) - c\theta + c\tau, \tau) d\tau \right] d\theta + \int_{0}^{\beta} \left[ q(\alpha - 2c\theta) - cp'(\alpha - 2c\theta) \right] d\theta + p(\alpha),$$
  
(2.42)

and we also solve (2.42), for  $\alpha$ ,  $\beta$ , where  $\alpha = x + ct$  and  $\beta = t$ , then the solution is given by

$$u(x,t) = \int_0^t \left[ \int_0^\theta F(x+ct-2c\theta+c\tau,\tau)d\tau \right] d\theta$$
  
+ 
$$\int_0^t q(x+ct-2c\theta)d\theta - \int_0^t cp'(x+ct-2c\theta)d\theta + p(x+ct).$$
(2.43)

If we let  $y = x + ct - 2c\theta$ , then we get

$$\int_{0}^{t} q(x+ct-2c\theta)d\theta = \frac{1}{2c} \int_{x-ct}^{x+ct} q(y)dy,$$
(2.44)

similarly, we have

$$-\int_{0}^{t} cp'(x+ct-2c\theta)d\theta = -\frac{1}{2}p(x+ct) + \frac{1}{2}p(x-ct).$$
 (2.45)

Then (2.44) and the last term of (2.43) can be written as

$$\frac{1}{2}p(x+ct) + \frac{1}{2}p(x-ct),$$
(2.46)

for the first term, we change the variable. Let  $y = x + ct - 2c\theta + c\tau$  and  $\beta = \tau$ , then we can write the first term of (2.43) in the following form:

$$\int_{0}^{t} \left[ \int_{0}^{\theta} F(x+ct-2c\theta+c\tau,\tau)d\tau \right] d\theta = -\int_{0}^{t} \int_{x-c(t-\beta)}^{x+c(t-\beta)} F(y,\beta) Jdy d\beta,$$
(2.47)

where J is the Jacobian

$$J = -\frac{1}{2C}dy\,d\beta = d\tau d\theta,\tag{2.48}$$

this completes the proof of the theorem.

Now, if we take the nonhomogenous wave equation with nonhomogenous initial condition as

$$u_{tt} - u_{xx} = 6e^{x} - x^{3} - 3x^{2} - 6x - 6, \quad -\infty < x < \infty, t > 0,$$
  
$$u(x,0) = \frac{1}{2}x\sin(x), \quad u_{t}(x,0) = \frac{1}{2}x\cosh(x) - \frac{1}{2}\sinh(x),$$
 (2.49)

where  $c^2 = 1$ , and since

$$e^{x} *^{x}x^{3} = 6e^{x} - x^{3} - 3x^{2} - 6x - 6,$$
  

$$\sin(x) * \cos(x) = \frac{1}{2}x\sin(x),$$
  

$$\sinh(x) * \sinh(x) = \frac{1}{2}x\cosh(x) - \frac{1}{2}\sinh(x),$$
  
(2.50)

we apply Theorem 2.1, then we have

$$u(x,t) = \frac{1}{4}(x-t)\sin(x-t) + \frac{1}{4}(x+t)\sin(x+t) + \frac{1}{4}\int_{x-t}^{x+t} [y\cosh(y) - \sinh(y)]dy + \frac{1}{2}\int_{0}^{t}\int_{x-c(t-\beta)}^{x+c(t-\beta)} [6e^{y} - y^{3} - 3y^{2} - 6y - 6]dyd\beta,$$
(2.51)

if we calculate the last two integrals, we obtain the solution of (2.49) as

$$u(x,t) = 3e^{(x-t)} + 3e^{(x+t)} - \frac{1}{4}t^4 - 3xt^2 - \frac{3}{2}x^2t^2 - 3t^2 - 6e^x$$
  

$$-\frac{1}{4}xt^4 - \frac{1}{2}x^3t^2 - \frac{1}{8}\sinh(x-t)x + \frac{1}{8}\sinh(x-t)t$$
  

$$+\frac{1}{4}\cosh(x-t) + \frac{1}{8}\sinh(x+t)x + \frac{1}{8}\sinh(x+t)t$$
  

$$-\frac{1}{4}\cosh(x+t) + \frac{1}{4}(x-t)\sin(x-t) + \frac{1}{4}(x+t)\sin(x+t).$$
(2.52)

In the following theorem, we prove the uniqueness and continuity of the abovementioned solution.

THEOREM 2.2. If  $h \in C^2(\mathbb{R})$ , and  $k \in C^1(\mathbb{R})$ , then the initial value problem

$$u_{tt} - c^2 u_{xx} = 0, \quad |x| \le \infty, \quad |t| \le \infty, u(x,0) = h(x), \quad u_t(x,0) = k(x),$$
(2.53)

where the nonhomogenous initial conditions are convolution terms as

$$h(x) = f_1(x) * f_2(x), \qquad k(x) = g_1(x) * g_2(x),$$
 (2.54)

a solution of the form

$$u(x,t) = \frac{1}{2}h(x+ct) + \frac{1}{2}h(x-ct) + \frac{1}{2c}\int_{x-ct}^{x+ct} k(y)dy,$$
(2.55)

which is well posed and its unique solution is given by D'Alembert formula.

*Proof.* It is easy to see that D'Alembert formula satisfies the wave equation and the initial condition. We will focus on proving the uniqueness. The general solution is given by

$$u(x,t) = F(x-ct) + G(x+ct),$$
(2.56)

and the initial condition determines *F* and *G*. If we had two solutions,  $p_1 = F_1 + G_1$  and  $p_2 = F_2 + G_2$  solve (2.44) with the initial condition h(x) and k(x), then the function

$$p(x,t) = p_1(x,t) - p_2(x,t) = (F_1 - F_2) + (G_1 - G_2)$$
(2.57)

satisfies the following equation:

$$p_{tt} - c^2 p_{xx} = 0, \quad |x| \le \infty, \quad |t| \le \infty,$$
  

$$p(x,0) = 0, \qquad p_t(x,0) = 0,$$
(2.58)

 $\square$ 

where *F* and *G* are uniquely determined from the initial conditions, and we have that p(x,t) = 0 satisfies the above system, then  $F_1 \equiv F_2$  and  $G_1 \equiv G_2$ . For continuous dependence on data, let *u*, *v* correspond to the solution with initial data *h*, *k* and  $v_0$ ,  $v_1$ , respectively, suppose

$$|h(x) - v_0(x)| \le \delta, \qquad |k(x) - v_1(x)| \le \delta, \quad \forall x,$$
(2.59)

then for  $0 \le t \le T$ , we have

$$|u(x,t) - v(x,t)| \leq \frac{1}{2} |h(x+ct) - v_0(x+ct)| + \frac{1}{2} |h(x-ct) - v_0(x-ct)| + \frac{1}{2c} \int_{x-ct}^{x+ct} |k(y) - v_1(y)| dy \quad (2.60) \leq \frac{1}{2} \delta + \delta \frac{1}{2} + \frac{1}{2c} \delta(2ct) < \delta(1+T)$$

for  $\epsilon > 0$ , if  $\delta(1 + T) < \epsilon$ , then  $|u(x, t) - v(x, t)| < \epsilon$ .

THEOREM 2.3. Consider the Cauchy problem

$$u_{tt} - c^2 u_{xx} = F(x, t), \qquad -\infty < x < \infty, t > 0,$$
  
$$u(x, 0) = h(x), \qquad u_t(x, 0) = k(x),$$
  
(2.61)

where the nonhomogenseity of the term of (2.61), defined as the double convolution

$$F(x,t) = f_1(x,t) *^x *^t f_2(x,t), \qquad (2.62)$$

is well posed.

*Proof.* It is easy to verify the uniqueness since the difference of two solutions satisfies the homogenous wave equation with zero initial condition and this was already discussed in the above theorem, we need only to consider the equation

$$u_{tt} - c^2 u_{xx} = F(x,t), \quad -\infty < x < \infty, \ t > 0,$$
  
$$u(x,0) = 0, \qquad u_t(x,0) = 0.$$
 (2.63)

The above equation has a solution of the form

$$u(x,t) = \frac{1}{2c} \int_{0}^{t} \int_{x-c(t-\beta)}^{x+c(t-\beta)} F(y,\beta) dy d\beta.$$
 (2.64)

Now, suppose that F(x,t) and G(x,t) satisfy

$$\left| F(x,t) - G(x,t) \right| < \delta, \qquad -\infty < x < \infty, \ t \ge 0. \tag{2.65}$$

If *u*, *v* are solutions corresponding to F(x,t) and G(x,t), respectively, and *t* satisfies  $0 \le t \le T$ , then

$$|u(x,t) - v(x,t)| = \frac{1}{2c} \left| \int_0^t \int_{x-c(t-\beta)}^{x+c(t-\beta)} (F-G)(y,\beta) dy d\beta \right|$$
  
$$\leq \frac{\delta}{2c} \int_0^t 2c(t-\beta) d\beta = -\delta \left( \frac{(t-\beta)^2}{2} \right|_0^t \right)$$
(2.66)  
$$= \delta \left( \frac{t^2}{2} \right) \leq \delta \left( \frac{T^2}{2} \right) < \delta(T^2).$$

Thus for fixed finite time interval [0,T] and  $\epsilon > 0$  if  $\epsilon > \delta T^2$ , then  $|u(x,t) - v(x,t)| < \epsilon$ .

THEOREM 2.4. Consider the Cauchy problem as

$$u_{tt} - c^2 u_{xx} = F(x,t), \quad -\infty < x < \infty, \ t > 0,$$
  
$$u(x,0) = p(x), \qquad u_t(x,0) = q(x),$$
  
(2.67)

where

$$F(x,t) = f_1(x,t) *^x *^x f_2(x,t),$$
(2.68)

and the initial condition, defined as

$$p(x) = h_1(x) * h_2(x), \qquad q(x) = g_1(x) * g_2(x)$$
 (2.69)

has a solution in the form of

$$u(x,t) = \frac{1}{2}p(x+ct) + \frac{1}{2}p(x-ct) + \frac{1}{2c}\int_{x-ct}^{x+ct} q(y)dy + \frac{1}{2c}\int_{0}^{t}\int_{x-c(x-\beta)}^{x+c(t-\beta)} [F(y,\beta)]dy\,d\beta.$$
(2.70)

The proof of this theorem is similar to that of Theorem 2.1.

In particular, if we take the nonhomogenous wave equation with the nonhomogenous initial condition such as

$$u_{tt} - u_{xx} = \frac{1}{2}xt\sin(x+t), \quad -\infty < x < \infty, \ t > 0,$$
  
$$u(x,0) = \frac{1}{2}x\cosh(x) + \frac{1}{2}x\sinh(x) - \frac{1}{2}\sinh(x),$$
  
$$u_t(x,0) = 2\sinh(x) - 2x,$$
  
(2.71)

where  $c^2 = 1$ , then it is easy to prove that the right-hand side of (2.71) can be written as

$$\sin(x+t) *^{x} *^{t} \cos(x+t) = \frac{1}{2} xt \sin(x+t), \qquad (2.72)$$

and similarly,

$$e^{x} *^{x} \sinh(x) = \frac{1}{2}x \cosh(x) + \frac{1}{2}x \sinh(x) - \frac{1}{2}\sinh(x),$$
  

$$x^{2} *^{x} \cosh(x) = 2\sinh(x) - 2x.$$
(2.73)

Now, we apply Theorem 2.4 as

$$u(x,t) = \frac{1}{4}(x-t)\cosh(x-t) + \frac{1}{4}(x-t)\sinh(x-t) - \frac{1}{4}\sinh(x-t) + \frac{1}{4}(x+t)\cosh(x+t) + \frac{1}{4}(x+t)\sinh(x+t) - \frac{1}{4}\sinh(x+t)\frac{1}{2}\int_{x-t}^{x+t} [2\sinh(y) - 2y]dy + \frac{1}{4}\int_{0}^{t}\int_{x-(t-\beta)}^{x+(t-\beta)} y\beta\sin(y+\beta)dyd\beta,$$
(2.74)

and we integrate the last two terms of (2.74), then we obtain the solution of (2.71) as

$$u(x,t) = -\cosh(x-t) - 2xt + \cosh(x+t) + \frac{1}{8}\sin(x-t) - \frac{1}{16}\cos(x-t)x + \frac{1}{16}\cos(x-t)t + \frac{1}{8}xt\sin(x+t) - \frac{1}{8}\cos(x+t)xt^{2} + \frac{1}{16}\cos(x+t)x + \frac{3}{16}\cos(x+t)t - \frac{1}{8}\sin(x+t) + \frac{1}{8}\sin(x+t)t^{2} - \frac{1}{24}\cos(x+t)t^{3} - \frac{1}{2}\sinh(x-t) + \frac{1}{2}\cosh(x-t)(x-t) + \frac{1}{2}\sinh(x-t)(x-t) - \frac{1}{2}\sinh(x+t) + \frac{1}{2}\cosh(x+t)(x+t) + \frac{1}{2}\sinh(x+t)(x+t).$$
(2.75)

In the following theorem, we extend Theorem 2.4.

THEOREM 2.5. Consider the Cauchy problem as

$$u_{tt} - c^2 u_{xx} = F(x,t) + G(x,t), \quad -\infty < x < \infty, \ t > 0,$$
  
$$u(x,0) = p(x), \qquad u_t(x,0) = q(x),$$
  
(2.76)

where

$$F(x,t) = f_1(x,t) *^x *^x f_2(x,t), \qquad G(x,t) = S_1(x,t) *^x *^t S_2(x,t), \qquad (2.77)$$

and the initial condition given by

$$p(x) = h_1(x) * h_2(x), \qquad q(x) = g_1(x) * g_2(x)$$
 (2.78)

has a solution of the form

$$u(x,t) = \frac{1}{2}p(x+ct) + \frac{1}{2}p(x-ct) + \frac{1}{2}p(x-ct) + \frac{1}{2c}\int_{x-ct}^{x+ct}q(y)dy + \frac{1}{2c}\int_{0}^{t}\int_{x-c(x-\beta)}^{x+c(t-\beta)} [F(y,\beta) + G(y,\beta)]dy\,d\beta.$$
(2.79)

The proof of this theorem is similar to that of Theorem 2.4. In the following theorem, we generalized Theorem 2.5 as follows.

THEOREM 2.6. Consider the Cauchy problem as

$$u_{tt} - c^2 u_{xx} = \sum_{i=1}^n F_i(x,0) *^x G_i(x,0), \quad -\infty < x < \infty, \ t > 0,$$
  
$$u(x,0) = p(x), \qquad u_t(x,0) = q(x),$$
  
(2.80)

where the initial condition defined as

$$p(x) = \sum_{i=1}^{n} h_i(x) * s_i(x), \qquad q(x) = \sum_{i=1}^{n} g_i(x) * k_i(x)$$
(2.81)

has a solution in the form of

$$u(x,t) = \frac{1}{2} \sum_{i=1}^{n} h_i(x+ct) * s_i(x+ct) + \frac{1}{2} \sum_{i=1}^{n} h_i(x-ct) * s_i(x-ct) + \frac{1}{2c} \int_{x-ct}^{x+ct} \sum_{i=1}^{n} g_i(y) * k_i(y) dy + \frac{1}{2c} \int_{0}^{t} \int_{x-c(x-\beta)}^{x+c(t-\beta)} \sum_{i=1}^{n} F_i(y,0) * {}^{y}G_i(y,0) dy d\beta.$$
(2.82)

The proof of this theorem is similar to that of Theorem 2.4.

The result in Theorem 2.5 can be extended to a double convolution as in the following theorem.

THEOREM 2.7. Consider the Cauchy problem as

$$u_{tt} - c^2 u_{xx} = \sum_{i=1}^n F_i(x,t) *^x *^t G_i(x,t), \quad -\infty < x < \infty, \ t > 0,$$
  
$$u(x,0) = p(x), \qquad u_t(x,0) = q(x),$$
  
(2.83)

where the initial condition defined as

$$p(x) = \sum_{i=1}^{n} h_i(x) * s_i(x), \qquad q(x) = \sum_{i=1}^{n} g_i(x) * k_i(x)$$
(2.84)

has a solution in the following form:

$$u(x,t) = \frac{1}{2} \sum_{i=1}^{n} h_i(x+ct) * s_i(x+ct) + \frac{1}{2} \sum_{i=1}^{n} h_i(x-ct) * s_i(x-ct) + \frac{1}{2c} \int_{x-ct}^{x+ct} \sum_{i=1}^{n} g_i(y) * k_i(y) dy + \frac{1}{2c} \int_{0}^{t} \int_{x-c(x-\beta)}^{x+c(t-\beta)} \sum_{i=1}^{n} F_i(y,\beta) *^y *^\beta G_i(y,\beta) dy d\beta.$$
(2.85)

The proof is similar to that of Theorem 2.5.

## Acknowledgments

The authors gratefully acknowledge that this research is partially supported by MOSTI under IRPA Project no. 09-02-04-0898-EA001.

## References

- G. L. Lamb Jr., Introductory Applications of Partial Differential Equations: With Emphasis on Wave Propagation and Diffusion, A Wiley-Interscience Publication, John Wiley & Sons, New York, NY, USA, 1995.
- [2] T. Myint-U, *Partial Differential Equations of Mathematical Physics*, North-Holland, New York, NY, USA, 2nd edition, 1980.
- [3] C. Constanda, *Solution Techniques for Elementary Partial Differential Equations*, Chapman & Hall/CRC Mathematics, Chapman & Hall, Boca Raton, Fla, USA, 2002.
- [4] D. G. Duffy, *Transform Methods for Solving Partial Differential Equations*, Chapman & Hall, 2nd edition, 2004.
- [5] V. A. Ditkin and A. P. Prudnikov, Operational Calculus in Two Variables and Its Applications, vol. 24 of International Series of Monographs on Pure and Applied Mathematics, Pergamon Press, New York, NY, USA, 1962.
- [6] J. L. Schiff, *The Laplace Transform: Theory and Applications*, Undergraduate Texts in Mathematics, Springer, New York, NY, USA, 1999.

Adem Kılıçman: Department of Mathematics, Faculty of Science and Technology, University of Malaysia Terengganu (UMT), 21030 Kuala Terengganu, Terengganu, Malaysia *Email address*: akilicman@umt.edu.my

Hassan Eltayeb: Department of Mathematics, Faculty of Science and Technology, University of Malaysia Terengganu (UMT), 21030 Kuala Terengganu, Terengganu, Malaysia *Email address*: hassangadeen@hotmail.com